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Identify the asymptotes, domain, and range of each function.
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Graph each function. State the domain and range, and identify the asymptotes.
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Determine the value of x for which each function is not defined. 950 yut dlls JS J=xs Ll x b 2>
3 7 2
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a. If c represents the cost for each friend and f represents the number of

friends, write an equation to represent tlllseocost to each friend as a sac Ji -f Colsg B30 Js ule aalsl Jies ¢ cols |.\! a
function of how many friends give. c = — . R . . e e
1S Gsswo JS Lle 2l Juiad) dsleo Sl wld syl
b. Graph the function. See margin. JWJi |9_°_\§ C}:‘.i-” BVl izl
c. Explain any limitations to the range or domain in this situation. In
this situation, the range and domain are limited to all real numbers Lz.llg dlyJl Jis b
greater than zero because negative values do not make sense
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